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1 1 7
x 3 0

1 0 8
x 7 1

Find the product of 62 and 
9.

Find the sum of 19, 15, and 
50.

5 + 4 + 5 + 8 = 6 + 5 = 

Write the reciprocal.
10

Write the reciprocal.

9
4

Write the reciprocal.

5
9

Write as a decimal.
Ten and thirty-three 
hundredths

Write as a decimal.
Eighteen and seven 
hundredths

Write as a decimal.

 17 9
10

3 - 2 - 2 = -7 x -3 = -10 ÷ 1 =

https://www.mathworksheets.com


Name:
Week of November 8
MathWorksheets.com

8y = 56 2n = 16
N
6

 = 12

Write the ratio as a fraction.
7 boys to 8 girls

Change to a decimal.
19%

1 is what % of 2?

14  +  1
2

 + 1
4

 = 19  -  5
6

 - 1
6

 = 10  +  7
9

 - 3
4

 =

What kind of angle is this?

Sketch 2 lines JK  and VW  that are 
intersecting.

An angle measures 166o.

What would you call this 

angle?

Sketch a right angle named 
CDE.

What kind of angle has 

a measure of 180o?
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

How many centimeters in 
420.4 meters?

11 + 7 x (9 - 9) 4 x 6 - 6

It was 4 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 26 degrees.  How 
warm was it?

6  ÷ 1
2

The perimeter of a 
rectangle is 18 cm.  The 
longer side is 7 cm.  How 
long is the shorter side?

8,  3,  21,  ,   34,  27, 

 47,  39,  60,  51,  73,  63,  

86

Know how many inches in 
a foot?  Okay, smarty pants,
how many inches in 9 feet?

10,  12,  ,   16,  18,  20, 

 22,  24

The radius of a circle is 455 
cm.  What is the diameter 
of this circle?

Round the decimal 0.765 to 
the nearest hundredth.

A toy car can go 3 mph.  
How long would it take to 
go 6 miles?
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Spin again. I needed to spin time(s) to finish.

What 6 coins add up to 67 
cents?

Write the missing family 
fact.
136 ÷ 17 = 8
8 x 17 = 136
17 x 8 = 136

6 + 12 - 4 x 2

What is the area of a 
rectangle with sides 4 cm 
and 7 cm?

How much money is 1 
quarter, 1 dime, 1 nickel, and 
4 pennies?

132 divided by 12 equals

4 3
9

 + 8 1
9

It was 7 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 17 degrees.  How 
warm was it?

Estimate quickly the 
difference.
7,040 - 1,310

How many meters are 
there in 152 kilometers?

How many minutes is it 
from 6:00 a.m. to 10:50 
a.m.?

B,  F,  J,  N,  ,   V,  Z

Round 71,775 to the nearest 
hundred.

What is 50% of 280? Yummy Donuts gave two 
dozen chocolate donuts 
and five dozen jelly donuts 
to the school.  How many 
donuts did they give?
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Kevin knows that his 
teacher loves birds. He 
is building a birdhouse 
for her for Teacher 
Appreciation Week. He 
started working on the 
birdhouse at 2:37 p.m. 
Saturday afternoon. He 
worked until it was all 
finished at 4:11 p.m. that 
evening. How long did 
Kevin work on the 
birdhouse?

Adam didn't have much 
to do. It was Quiet Day 
and he hated being 
quiet. He decided to 
draw. First he drew a 
rectangle with a 
perimeter of 20 inches. 
Then he drew 2 circles 
inside it. The circles had 
a diameter of 4 inches. 
The rectangle was 5 
inches long. How wide 
was it?

Nathan has an 
appointment with his 
doctor at 3:00 p.m. He 
has to get a physical so 
he can play football. It is 
1:16 p.m. now and it will 
take him 30 minutes to 
get to the doctor's 
office. How long can he 
play a video game 
before he has to leave 
to get to the 
appointment on time?

Circle the greatest number:
72,165

8,490,369
247,510

83,249,513,780

Sara will win if a random number 
pulled out of a box is a multiple of 
6.  27 pieces of paper, numbered 
43 to 69, are put inside a box.  
What is the chance that Sara will 
win?

6 6 5
- 2 5 8

Jessica wants a new 
notebook for school. It 
costs $4.42. She has 6 
quarters, 7 dimes, and 5 
nickels. How much more 
does she need to buy the 
notebook?

3 1 2
+ 2 1 8

Insert punctuation marks into this 
sentence.
Mr. Cahee told us that we did well 
on our standardized test.
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Write a letter that has two or 
more lines of symmetry. 6 7

- 3 7

Ava wants to call Rose.  Rose 
is on vacation in Asia.  It is a 
time difference of nine hours. 
Rose's time is always later 
than Ava's time.  If it is 3:17 P.M.
where Ava lives, then what 
time is it where Rose is?

22 cm = mm 2 3
+ 2 6

Circle the smallest number:
691,742 38,268
7,932,650,184 489,321,065,705

1 km = 1,000 m

13 km = m

The circus is in town!  Tickets are only $4 for kids. 
Adults need to pay double the price of kids 
tickets.  Mary is bringing two of her friends in 
her class.  Her mom is also coming.  Mary wants 
to pay for everyone. How much will she need to 
pay?

Jenna was given four numbers:  3,  5,  2,
and  8.  She needs to use two of these 
numbers to make a fraction.  Can she 
make a fraction that is greater than 
three-fourths?

What time is 14 hours after 
3:00 p.m.?

Circle the addition property 
for 51 + 33 = 33 + 51.

associative property
commutative property

Choose the words that best complete 
the sentence.
The twins told me that 
(their/there) grandmother knit 
them (their/there) matching 
sweaters.

30 ÷ 5 = 

40 ÷ 5 = 
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Emily wrote down a fraction on a 
piece of paper.  If you take her 
fraction and multiply it by six you 
get eight.  Can you guess what 
her fraction is?

How many feet are in 6 yards?

 feet

For 90,488,481,550, write the 
digit that is in the ten 
thousands place.

Can 564 be evenly divided by 5? Circle:
564 is NOT evenly divisible by 5
564 is evenly divisible by 5

How far do you think it is 
from the ground to your 
chin?  Write an estimate of 
the distance you think it 
could be.

In the number 7,467,530, the digit 3 is in 
what place?

Write a letter that has a line 
of symmetry. (7 + 8) + 2 = 

How many digits are in the 
number of days in the 
current month?

6 x 5 = 18 ÷ 6 = 

word root ac can mean toward or to accelerate, acceleration, accumulate

9 x 8 = 
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3 1 7 + 1 5 0 + = - 4 7 + 7 8 7

Use the pieces above to help you fill in the runaway math puzzle.

Rose is making up her own calendar.  The first month of her 
weird calendar is called Gaffy.  To make matters worse, she is 
giving Gaffy a total of sixteen days.  What is the least number 
of Saturdays that can occur during Gaffy?  Show the month 
of Gaffy.

word root ang can mean bend angle, angular

9 + = 9 -

0
2 + 2 4

5
1 4 + 0 =

= 5
3
+
5 + 4 = + 2
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Germany, Canada, and Italy competed in a two-run bobsled competition.
The times on the first run were one minute and 57.29 seconds, one minute and 58.09 
seconds, and one minute and 57.80 seconds.
The times on the second run were one minute and 56.04 seconds, one minute and 56.13 
seconds, and one minute and 55.52 seconds.

Figure out the time needed for each run and the combined run time for each team.

1. The team from Canada finished the second race in less than one minute and 56.08 
seconds.

2. On the second run, the team from Germany was one second and one hundred 
seventy-seven hundredths of a second faster than their first run.

3. On the first run, the team from Canada was eighty hundredths of a second behind the 
winners of the first run.

Germany finished the first run in  and the second in .

Canada finished the first run in  and the second in .

Italy finished the first run in  and the second in .

11 x 7 = 
Can 717 be evenly divided by 3? Circle:
717 is evenly divisible by 3
717 is NOT evenly divisible by 3

Write 3,300,418 in words.

What part of speech is the underlined word? Explain the word's function in this 
sentence.
The pioneers traveled across the plains.
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9  +  5
7

 - 2
9

 = Reduce 24
48

 to its lowest 

terms.

Reduce 153
162

 to its lowest 

terms.

4 1
3

3 4
9-

7

1 10
12-

7 1
2

9 6
7+

Find the least common 
denominator.

1
2

 and 9
10

Find the least common 
denominator.

5
6

 and 2
16

1
7

1
9+

6 . 1
- 5 . 8 1

8 . 1 8 5
- 6 . 8 1 5

Find the difference 
between 20.2 and 13.3.
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28.6 +53 -3.4

-34.7+6.1

-35

+30.5

+39.9 -4 +11.2

-21

71.2

-42

+19

-2.3 -9.8 -23.9

+37.2

+8+7

-1.6

+32.5 95.3

Can 678 be evenly divided by 11? Circle:
678 is NOT evenly divisible by 11
678 is evenly divisible by 11 28

 9x
56
 8x
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3
4

1
2

+

5
8

1
8

+

1 1
6

5
6

+
1
3

2
3

+

4
5

1
5

+
4
7

6
7

+

1

1
2

+
8
9

5
9

+

https://www.mathworksheets.com


Name:
Week of November 8
MathWorksheets.com

END 12 ÷ 2 + 12

4 + 18 ÷ 6

10 - (4 + 3)

12 - 9 + 6 x 9

END

20 ÷ 2 x 10

9 x 6 - 12

5 x 5 - (6 + 5)

1 x 27 ÷ 9

2 + 6 x 12 x 4

END 7 - 2 - 5

12 + 8 - 710 + (2 + 8)

6 + 9 + 4 - 9

6 + 18 ÷ 3 10 - 5 + 3 x 3

END

96 ÷ 12 + 3

9 x 9 + 2

10 - 8 + (11 + 5)

4 x 4 + 10

11 x 6 + 1 x 7

1 + (6 x 2)

1 + 4 x 11 x 11

START

73

Draw a line from START to END.
0 7 73
42

Cross out the number you use above and then write it below.
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

The principal of your school wants to buy forty-two 
books.  Each book costs $9.02.  She wants to 
estimate how much it will cost.  Show her how you 
would estimate the cost:

In each pair, circle the word that is 
spelled correctly.
lekture, lecture
marble, marbel
leest, least

Identify the relative pronoun and write 
it on the line.
The car that ran into the tree in 
our yard was badly damaged.
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